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QUESTION 1

Which code fragment is required to load a JDBC 3.0 driver? 

A. Connection con = Connection.getDriver ("jdbc:xyzdata://localhost:3306/EmployeeDB"); 

B. Class.forName("org.xyzdata.jdbc.NetworkDriver"); 

C. Connection con = DriverManager.getConnection ("jdbc:xyzdata://localhost:3306/EmployeeDB"); 

D. DriverManager.loadDriver ("org.xyzdata.jdbc.NetworkDriver"); 

Correct Answer: B 

 

QUESTION 2

Given the code fragment: 

BiFunction val = (t1, t2) -> t1 + t2; //line n1 //line n2 System.out.println(val.apply(10, 10.5)); 

What is the result? 

A. 20 

B. 20.5 

C. A compilation error occurs at line n1. 

D. A compilation error occurs at line n2. 

Correct Answer: D 

 

QUESTION 3

Given the code fragments: and 
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What is the result? 

A. Video played.Game played. 

B. A compilation error occurs. 

C. class java.lang.Exception 

D. class java.io.IOException 

Correct Answer: C 

 

QUESTION 4

Given: 

class Worker extends Thread { 

CyclicBarrier cb; 

public Worker(CyclicBarrier cb) { this.cb = cb; } 

public void run () { 

try { 

cb.await(); 

System.out.println("Worker..."); 

} catch (Exception ex) { } 

} 

} 

class Master implements Runnable { //line n1 

public void run () { 

System.out.println("Master..."); 

} 

} 

and the code fragment: 
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Master master = new Master(); 

//line n2 

Worker worker = new Worker(cb); 

worker.start(); 

You have been asked to ensure that the run methods of both the Worker and Master classes are 

executed. 

Which modification meets the requirement? 

A. At line n2, insert CyclicBarrier cb = new CyclicBarrier(2, master); 

B. Replace line n1 with class Master extends Thread { 

C. At line n2, insert CyclicBarrier cb = new CyclicBarrier(1, master); 

D. At line n2, insert CyclicBarrier cb = new CyclicBarrier(master); 

Correct Answer: C 

 

QUESTION 5

Given the code fragment: 

What is the result? 

A. A compilation error occurs. 

B. [Java, J2EE, J2ME, JSTL, JSP] 

C. null 

D. [Java, J2EE, J2ME, JSTL] 

Correct Answer: D 
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